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1. ZEHSwitchARIERE

# (FREIPVERL R IRE,

<SwitchA> system-view

[SwitchA]switch-mode dual-piv4-ipv6

[SwitchA] ipv6

# ER B0 Vlan-interface100f3biE,

[SwitchA] interface Vlan-interface 100
[SwitchA-Vlan-interface100] ip address 2.1.1.1 24
[SwitchA-Vlan-interface100] quit

# ECEZVlan-interface 1009t RISwitchB_E3Z [ Vian-interface 100HIE8H  (1t&k
RORFSERE R —Bkitbtit A [nexthoplA &, HSLAMBNSECESLIRAIT—HHIL) .
[SwitchA] ip route-static 5.1.1.1 24 [nexthop]

# BCE £ Vlan-interface101HB3LE,

[SwitchA] interface Vlan-interface 101

[SwitchA-Vlan-interface101] ipv6 address 2002:0201:0101:1::1/64
[SwitchA-Vlan-interface101] quit

#EBWSHAEE, FEIENE, BnOMAZNSHEER, FEEROEXDS
TPIjjEE,

[SwitchA] link-aggregation group 1 mode manual

[SwitchA] link-aggregation group 1 service-type tunnel

[SwitchA] interface Ethernet 1/0/1

[SwitchA-Ethernet1/0/1] stp disable

[SwitchA-Ethernet1/0/1] port link-aggregation group 1
[SwitchA-Ethernet1/0/1] quit

# Fo B 6todpsia,

[SwitchA] interface Tunnel 0

[SwitchA-Tunnel0] ipv6 address 20020201:0101::1/64
[SwitchA-Tunnel0] source Vlan-interface 100

[SwitchA-Tunnel0] tunnel-protocol ipv6-ipv4 6to4

# FETunnelEOME MECERNES | A SSIEAT,
[SwitchA-Tunnel0] aggregation-group 1

[SwitchA-Tunnel0] quit

# ECEEIBA9HNE2002:/16, T—BEATunneliEOATEHSERH.
[SwitchA] ipv6 route-static 2002:: 16 Tunnel 0

2. gt SwitchBRIEE

# {REIPVEIE RINRE,

<SwitchB> system-view

[SwitchB]switch-mode dual-piv4-ipv6

[SwitchB] ipvé

# BLE&#E Vlan-interface 100f4itbLE,

[SwitchB] interface Vlan-interface 100
[SwitchB-Vlan-interface100] ip address 5.1.1.1 24
[SwitchB-Vlan-interface100] quit

# ECE$Z O Vlan-interface100f9EERISwitchA_E3 [ VIan-interface 100H9E& B (1tt&k


https://zhiliao.h3c.com/User/other/0

AORFSERE F—BktEut LA nexthop{tE, ESCAEMATBECESIPRAY F—HEEIr) .
[SwitchB] ip route-static 2.1.1.1 24 [nexthop]

# ERBIE O Vlan-interface101 AL,

[SwitchB] interface Vlan-interface 101

[SwitchB-Vlan-interface101] ipv6 address 2002:0501:0101:1::1/64
[SwitchB-Vlan-interface101] quit

#EBWSAEE, FEIENZ, BinOIMAENSHREER, FEERO EXAS
TPIjjEE,

[SwitchB] link-aggregation group 2 mode manual

[SwitchB] link-aggregation group 2 service-type tunnel

[SwitchB] interface Ethernet 1/0/1

[SwitchB-Ethernet1/0/1] stp disable

[SwitchB-Ethernet1/0/1] port link-aggregation group 2

[SwitchB-Ethernet1/0/1] quit

# BCE6to4fXiE.

[SwitchB] interface Tunnel 0

[SwitchB-Tunnel0] ipv6 address 20020201:0101::1/64

[SwitchB-Tunnel0] source Vlan-interface 100

[SwitchB-Tunnel0] tunnel-protocol ipv6-ipv4 6to4

# ETunnelECME N ECERES | Bl SSERELH2,

[SwitchB-Tunnel0] aggregation-group 2

[SwitchB-Tunnel0] quit

# BCEEIBRYIENE2002::/16, T—BEAATunneliEOATFHSEEH.

[SwitchB] ipv6 route-static 2002:: 16 Tunnel 0
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